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DD–2068 

M. Com. (Final) EXAMINATION, 2020 

(Compulsory Group) 

Paper Third 

INCOME TAX LAW AND TAX PLANNING  

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- fuEukafdr iz’uksa ds mŸkj nhft, % 

¼v½ vk;dj vf/kfu;e esa dkSu fuoklh ijUrq vlk/kkj.k fuoklh 
gks ldrk gS \ 

¼c½ ,slh ik¡pik¡pik¡pik¡p vk; dh enksa dks le>kb, tks dqy vk; esa ugha 
tksM+h tk;asxhA 

¼l½ vk;dj vf/kfu;e] 1961 ds izko/kkuksa dks nsrs gq, 
ßeuksjatu HkŸkkÞ rFkk ßedku fdjk;k HkŸkkÞ dks le>kb,A 

¼n½ vftZr vodk’k ds udnhdj.k ls lacaf/kr vk;dj ds 
izko/kku le>kb,A 
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Answer the following questions : 

(a) Who can be a resident but not an ordinary resident 

under the Income Tax Act ? 

(b) Explain any five items which are not included in 

total income. 

(c) Explain “Entertainment Allowance” and “House 

Rent Allowance” giving provisions of Income Tax 

Act, 1961. 

(d) Explain the provisions of Income Tax regarding 

encashment of earned leave. 

vFkokvFkokvFkokvFkok    
(Or) 

izks- ‘kekZ rhu edkuksa ds Lokeh gSa] ftudk uxjikfydk ewY;kadu 
Øe’k% ` 50]000] ` 75]000 ,oa ` 96]000 gSA ;s rhuksa edku 
izks- ‘kekZ }kjk vius fuokl ds fy, iz;qDr fd, tkrs gSaA rhuksa 
edkuksa dk mfpr fdjk;k lkekU;r;k uxjikfydk ewY;kadu ds 
20% ls vf/kd gSA mUgksaus fuEufyf[kr lwpuk,¡ izsf”kr dh gSa % 
(i)  uxjikfydk dj uxjikfydk ewY;kadu dk 10% gSA 
(ii) izFke edku dh ejEer ij ` 4]000] nwljs edku dh vkarfjd 

lkt&lTtk] fp=dkjh ,oa ejEer ij ` 10]000 rFkk rr̀h; 
edku dh ejEer ij ` 2]500 O;; fd,A 

(iii) izR;sd edku ds lkFk ,d njcku] ,d ekyh] ,d QjkZ’k ,oa 
,d fctyh feL=h fu;qDr gSA izR;sd edku ds bu deZpkfj;ksa 
dk osru ` 18]000 izfr o”kZ gSA 

(iv) vfXu chek izhfe;e uxjikfydk ewY;kadu dk 7% gSA 
(v) izFke edku muds firk us mUgsa fn;k FkkA firk dh olh;r ds 

vuqlkj izks- ‘kekZ edku dh vk; esa ls ` 3]200 izfrekg firk 
ds xq#nso ds vkJe dks nsus ds fy, ck/; gaS vkSj os ;g jkf’k 
nsrs pys vk jgs gSaA 
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(vi) f}rh; ,oa rr̀h; edku dk fuekZ.k Øe’k% uoEcj] 2015 ,oa 
uoEcj] 2016 esa lekIr gqvkA 

(vii) izks- ‘kekZ us f}rh; edku ds fuekZ.k gsrq ` 1]50]000] 12% 
izfro”kZ C;kt ij m/kkj fy,] _.k ysus dh frfFk 1&8&2014 
rFkk _.k Hkqxrku dh frfFk 31&7&2018 A 

edku lEifŸk ls vk; dh x.kuk dhft,A 
Professor Sharma is the owner of three houses, the 

municipal valuations of which are ` 50,000, ` 75,000 and 

` 96,000 respectively. All the three houses are used by 

Prof. Sharma for his own residential purpose. Fair rent of 

all houses is generally 20% higher to municipal valuation. 

He had furnished the following information : 

(i) Municipal taxes are levied @10% M. V. 

(ii) He spent ` 4,000 on the repairs of the first house, 

` 10,000 on interior decoration, painting and repairs 

of the second house and ` 2,500 on the repairs of the 

third house. 

(iii) A durban, a gardner, a sweeper and an electrician 

are employed for each house. ` 18,000 per annum 

are spent on their salary with regard to each house.  

(iv) The fire insurance premium is ` 7% of municipal 

value. 

(v) The first house was inherited by him from his father. 

As per will of his father, he was entitled to remit  

` 3,200 p. m. to the Ashram of his Gurudev out of 

the income of the first house and he has been 

remitting this amount regularly. 
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(vi) The construction of second and third houses was 

completed in November, 2015 and November, 2016. 

(vii) Prof. Sharma borrowed ` 1,50,000 @ 12% p. a. for 

construction of the house II. Date of taking loan  

1-8-2014 and date of Repayment of loan 31-7-2018. 

Compute income from House property. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- feLVj vt; us viuh dqN lEifŸk;k¡ o”kZ 1&4&2018 ls 
31&3&2019 ds nkSjku cspha tks bl izdkj ls gSa % 
¼v½ vkHkw”k.k ykxr ` 80]000 ¼tks twu] 2016 esa izkIr fd,½ 

ebZ] 2018 esa ` 1]00]000 ds csps x,A 
¼c½ dksydkrk esa jgus ds mís’; ls fdjk;s ij mBk;k gqvk 

edku 31&10&2018 dks ` 14]00]000 esa cspkA 1&4&2001 
dks mfpr cktkj ewY; ` 3]00]000A 2009&10 esa mlds 
lq/kkj ij ykxr ` 29]600A gLrkarj.k O;; ` 25]000 gSA 

¼l½ ?kjsyw QuhZpj 2009 esa ftldh ykxr ` 14]000 Fkh] ekpZ 
2019 esa ` 26]000 esa cspkA 

¼n½ dkj 1&12&2008 dks ` 45]000 esa csph ftldk vifyf[kr 
ewY; 1&4&2018 dks ` 38]000 FkkA 

¼;½ 1&1&2019 dks Lo;a dh d`f”k Hkwfe ` 8]00]000 esa ,d 
vf/kfu;e ds vUrxZr vfuok;Z :i ls vf/kxzghr dj yh 
xbZ ftldh 2003&04 esa ykxr ` 65]400 FkhA 

mlds dqy iw¡th ykHk dh x.kuk dhft,A ykxr LQhfr lwpdkad 
2001&02 esa 100( 2003&04 esa 109( 2009&10 esa 148 vkSj 
2018&19 esa 280 gSaA 
Mr. Ajay sold some of his property during the year  

1-4-2018 to 31-3-2019 as under : 

(a) Jewellery costing ` 80,000 (which was acquired in 

June, 2016) was sold for ` 1,00,000 in May, 2018. 
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(b) House at Kolkata let out for residential purposes. Its 

sale price on 31-10-2018 ` 14,00,000. Fair market 

value on 1&4&2001 ` 3,00,000. Cost of improvement 

made during 2009&10 ` 29,600. Expenses on transfer 

are ` 25,000.  

(c) Household furniture costing ` 14,000 in 2009 was 

sold in March, 2019 for ` 26,000. 

(d) Car was sold on 1-12-2008 for ` 45,000 its written 

down value on 1-4-2018 was ` 38,000.  

(e) Self-cultivated land was compulsorily aquired under 

law for ` 8,00,000 on 1-1-2019 and its cost in 2003-

04 was 65,400. 

Compute his capital gain. Cost inflation indices 

are 2001&02 : 100, 2003-04 : 109, 2009-10 : 148 and 

2018-19 : 280. 

vFkokvFkokvFkokvFkok    
(Or) 

fe- c?ksy }kjk dj&fu/kkZj.k o”kZ 2019&20 ds fy, fuEufyf[kr 
fooj.k izLrqr fd;k x;k gSA vkidks mldh dqy vk;] ldy 
dj nkf;Ro ,oa ‘kq) dj nkf;Ro dh x.kuk djuh gS % 

 ` 

is’ks ls vk; 5,68,000 

edku lEifŸk ls vk; ¼x.kuk dh xbZ½ 38,000 

d`f”k vk; 15,000 

nh?kZdkyhu iw¡th ykHk 20,000 

vklke jkT; dh ykWVjh dk buke 50,000 

thou chek izhfe;e dk Hkqxrku  

¼ikWfylh ` 7 yk[k dh 2011 esa yh½  75,000 

rk’k ds [ksy ls vk; 19,000 
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The following particulars are submitted by Mr. Baghel for 

the Assessment year 2019-20. You are required to 

compute his Total Income, Gross Tax Liability and Net 

Tax Liability : 

 ` 

Income from profession 5,68,000 

Income from House property (Computed) 38,000 

Agriculture Income 15,000 

Long-term capital gains 20,000 

Lottery winning from Assam State 50,000 

Life Insurance premium paid  

(Policy of ` 7 Lakh taken in 2011) 75,000 

Income from card game 19,000 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- ¼v½ gkfu;ksa dks vkxs ys tkus rFkk mudh iwfrZ ds izko/kkuksa dks 

le>kb,A 

Explain the provisions regarding set-off of losses 

while computing the total income. 

¼c½ ^osru* ‘kh”kZd ds vUrxZr mn~xe LFkku ij dj dkVus ds 

D;k izko/kku gSa \ ;fn dj u dkVk tk;s rks mlds D;k 

ifj.kke gSa \ 

What are the provisions regarding deduction of tax 

at source under the head ‘salaries’ ? What would be 

consequences if tax is not deducted at source ? 
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vFkokvFkokvFkokvFkok    

(Or) 

Jherh tks’kh ¼Hkkjr esa fuoklh] vk;q 82 o”kZ½ dks foŸkh; o”kZ 

2019&20 esa fuEu dj;ksX; vk; gksus dk vuqeku gS % 

 ` 

O;kikj ls vk; 12,00,000 

nh?kZdkyhu iw¡th ykHk ¼10 vDVwcj] 2019½ 25,000 

LVsV cSad dh ,d ‘kk[kk esa fe;knh tek ij C;kt 

¼ldy½ 26,000 

ykHkka’k 3,000 

 12,54,000 

  

(i) og bl o”kZ esa viuh thou chek fd’r 

nsaxh 
  ` 

25,000 

(ii) lkoZtfud izkWfoMsUV Q.M esa tek djsaxh 70,000 

(iii) iz/kkuea=h jkgr dks”k esa fn, pSd }kjk 25,000 

(iv) LokLF; chek izhfe;e jksdM+h fn;k 2,000 

foŸkh; o”kZ 2019&20 esa fu/kkZfjr frfFk;ksa rd ns; vfxze dj dh 

jkf’k dh x.kuk dhft,A 
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Smt. Joshi (Resident in India, aged 82 years) has 

estimated the following taxable income for the financial 

year 2019-20 : 

 ` 

Income from Business 12,00,000 

Long-term capital gain (10th Oct., 2019) 25,000 

Interest (gross) on F. D. from a branch of 

SBI  26,000 

Dividend 3,000 

 12,54,000 

  

(i) She will pay Life Insurance Premium 

on her own life 
`  

     25,000 

(ii) She will deposit in P. P. F. 70,000 

(iii) Paid to P. M. Relief Fund by cheque 25,000 

(iv) Health insurance premium paid in cash 2,000 

Determine the amount payable as advance tax on 

prescribed dates during financial year 2019-20. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- Jh uoy ,d fgUnw vfoHkkftr ifjokj ds drkZ gSa vkSj muds 
}kjk fuEufyf[kr fooj.k izLrqr fd;k x;k gSA dj&fu/kkZj.k o”kZ 
2019&20 ds fy, ifjokj dh dqy vk; Kkr dhft, ,oa mu ij 
dj nkf;Ro Hkh Kkr dhft, % 

 ` 

va’kksa ds Ø; ,oa foØ; ds O;olk; ls ykHk 8,60,000 

mi;qZDr ij izfrHkwfr laO;ogkj dj fn;k 2,40,000 

vYidkyhu iw¡th ykHk 7,500 
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nh?kZdkyhu iw¡th ykHk 9,000 

nh?kZdkyhu iw¡th gkfu 6,000 

edku lEifŸk ls fdjk;k izkIr gqvk 21,000 

mi;qZDr edku lEifŸk ij LFkkuh; dj fn;k 3,000 

ljdkjh izfrHkwfr;ksa ij C;kt feyk 9,000 

bu izfrHkwfr;ksa dks [kjhnus ds fy, _.k ij C;kt 6,000 

cpr cSad [kkrs ij C;kt 20,000 

tokgj yky usg: Le`fr dks”k esa psd }kjk nku 6,000 

drkZ dh thou chek ikWfylh ij izhfe;e fn;k 3,060 

The following details have been supplied by Shri Nawal 

the Karta of Hindu Undivided Family. You are required to 

compute the total income of the family and its tax liability 

for the assessment year 2019-20 : 

 ` 

Profit from business of purchase and sale of 

shares 8,60,000 

Security Transaction Tax paid on above 2,40,000 

Short-term capital gains 7,500 

Long-term capital gains 9,000 

Long-term capital loss 6,000 

Rent received from the House property 21,000 

Local tax paid on the above mentioned house 

property 3,000 

Interest Received on Govt. Securities 9,000 

Interest on loan taken to purchase these 

securities 6,000 

Interest on Saving Bank Account 20,000 

Donation to Jawarlal Nehru Memorial Trust 

by cheque 6,000 

Premium paid on life insurance policy of 

Karta 3,060 
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vFkokvFkokvFkokvFkok    
(Or) 

lgdkjh lfefr;ksa ds dj&fu/kkZj.k ds laca/k esa vk;dj vf/kfu;e 
ds izko/kkuksa dh foospuk dhft,A 
Discuss the provisions of the Income Tax Act regarding 

the assessment of co-operative societies. 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- ^v*] ^c* vkSj ^l* us ,d O;olk; izkjEHk djus dk fu’p; 
fd;kA blds fy, muds ikl Øe’k% ` 6]00]000] ` 3]00]000 
,oa ` 3]00]000 gSaA os viuh iw¡th@_.k ij 12% C;kt pkgrs 
gSaA ^v* dks ` 20]000] ^c* dks ` 10]000 ,oa ^l* dks ` 10]000 
ekfld osru rFkk ykHk 2 % 1 % 1 ds vuqikr esa feysxk vFkok 
^v* O;olk; dk ,dy Lokeh cu tk, vkSj ^c* ,oa ^l* dks 
vk; dk vk/kk feysA iw¡th@_.k ij C;kt ls iwoZ ` 8]00]000 
vuqekfur vk; gSA 
vk;dj ds fo’ks”kK ds ukrs ^v*] ^c* ,oa ^l* dks lykg nhft, fd 
mUgsa lk>snkjh QeZ cukuh pkfg;s vFkok ^v* dks ,dy LokfeRo dk 
O;olk; ,oa ^c* rFkk ^l* mlds _.knkrk ,oa deZpkjh ds :i esa 
dk;Zjr gksa rkfd mudk dj&nkf;Ro de gks ldsA 

vkidk D;k lq>ko gS \ vius lq>ko ds i{k esa rdZ nhft,A 
A, B and C have decided to set-up a business. For the 

purpose A, B and C are having ` 6,00,000, ` 3,00,000 and 

` 3,00,000 respecively. They wish to charge interest on 

their capital/loan @ 12% p. a. Salary A ` 20,000, 

B ` 10,000 and C ` 10,000 p. m. and share profits in the 

ratio 2 : 1 : 1 or B and C receive half of the income as 

salary nominating A as the sole owner of the business. 

They expect the income of ` 8,00,000 (before charging 

interest on capital/loan) during the relevant year. 
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As an Income Tax expert you are approached by A, B and 

C for considered opinion as to whether they should have a 

firm or a sole proprietary concern of A while B and C 

becoming employees and moneylenders to concern so that 

they can reduce their tax liability ? 

What is your advice and what arguments would you give 

in the support of your advice ? 

vFkokvFkokvFkokvFkok    

(Or) 

A Ltd. ,d turk ds lkjoku fgr okyh dEiuh gSA ;g viuk 
mRiknu c<+kus dk izLrko djrh gS ftlds fy, ` 1]00]00]000 
dh vko’;drk gksxhA dEiuh vfrfjDr iw¡th dh lajpuk ds fy, 
fuEufyf[kr fodYi izLrqr djrh gS % 

 izFke fodYiizFke fodYiizFke fodYiizFke fodYi    
(`̀̀̀) 

f}rh; f}rh; f}rh; f}rh; 
fodYifodYifodYifodYi    
(`̀̀̀) 

rr̀h; rr̀h; rr̀h; rr̀h; 
fodYifodYifodYifodYi    
(`̀̀̀) 

va’k iw¡th 1,00,00,000 40,00,000 20,00,000 

10% _.ki= – 40,00,000 30,00,000 

foŸkh; laLFkk ls 
_.k ¼C;kt 12% 
dh nj ls½ – 20,00,000 50,00,000 

O;kikj esa yxh gqbZ iw¡th ij lEHkkfor izR;k; 25% ¼dj ls iwoZ½ 
gSA mlh izdkj ds O;kikj esa yxh gqbZ vU; dEifu;ksa }kjk va’k 
iw¡th ij lkekU;r;k 20% dk ykHkka’k fn;k tk jgk gSA ;g 
ekurs gq, fd dj dh nj 25%, vf/kHkkj dh nj 7% rFkk 
f’k{kk ,oa LokLF; midj dh nj 4% gSA 
vkidks dEiuh dks ijke’kZ nsuk gS fd og iw¡th dh lajpuk ds 
fy, dkSu&lk fodYi pqus rkfd va’k/kkfj;ksa dks vf/kdre ykHkka’k 
ns ldsaA 
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A Ltd. is a widely-held company. It proposes to increase 

its production for which it will require ` 1,00,00,000. The 

company proposes the following three alternatives for the 

structure of the additional capital : 

 First 

Alternative 

(`̀̀̀) 

Second 

Alternative 

(`̀̀̀) 

Third 

Alternative 

(`̀̀̀) 

Share Capital 1,00,00,000 40,00,000 20,00,000 

10% Debenture  40,00,000 30,00,000 

Loan from 

Financial 

Institutions (int. 

12%)  20,00,000 50,00,000 

Expected return on capital employed in business is 25% 

(before tax). Generally companies engaged in similar 

business are paying 20% dividend on its share capital. 

Assume tax rate ` 25%, Surcharge 7% and Health and 

Education cess 4%.  

You are to advise the company as to which alternative it 

should choose for the capital structure so as to pay 

maximum dividend to the shareholders. 
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